
STEP 1 - Measure bar top to determine the number of Supports required. Maximum recommended distance from ends is 14" 
(355 mm) on center. Distance between center Support should be no greater than 32" (813 mm) on center. 
Minimum distance from the edge of the bar top is 2" (51 mm) as shown in the guidelines below.

STEP 2 - Place Supports on the counter top with brackets on top as shown in Illustration 3.

STEP 3 - Carefully mark on the counter top the locations of Supports and the 
appropriate drill spots for the lower bolts of the Support. Remove the 
Supports and proceed to carefully drill 1/2" (12.7 mm) diameter 
holes into the counter top slab.

STEP 4 - Place gasket mat on to the counter top so the two holes in the gasket match 
with the two newly drilled holes in the counter top. Place the Support over the 
gasket and match up their holes. (Brackets of the Support are to be in the 
upright position). Insert the two lower bolts in their appropriate location. 
Proceed to tighten the nuts and bolts, using caution when tightening as 
to not damage the counter top. (See Illustration 1)

STEP 5 - Once all Supports are bolted down in the correct fashion, proceed to place the 
bar top plywood on Supports. Mark the location of support screws, and drill all the 
necessary 3/8" (9.5 mm) diameter holes into the plywood. Place the plywood in it's 
correct location and tighten the screws and tee nuts, fastening down the plywood 
securely to the Support brackets.

STEP 6 - Proceed to install slab on top of plywood as per installer's discretion.

C.R. LAURENCE CO., INC.

CRL Steel Support Installation Instructions
Catalog Numbers SCS6V and SCS6A

CALL TOLL FREE FROM ANYWHERE IN THE U.S.A AND CANADA •  ALL PRODUCTS F.O.B. NEAREST WAREHOUSE.

crlaurence.com • Toll Free (800) 421-6144 • Fax (800) 262-3299

A
V

D
38

57
_1

2/
05

1. If the bar top is 60" (1524 mm) or less in length a minimum of two supports are required. If bar top is longer than 60" (1524 mm)
one support per every 32" (813 mm) is required. Bar top width shall not exceed a maximum of 20" (508 mm).

Pre-Installation Information:

Installation Information:

(A) 1 - Support
(B) 4 - Stainless Steel Machine 

Screws - (5/16" x 3/4")
(C) 4 - Pronged Tee Nuts - (5/16")

Package Contents: See Diagrams

COUNTER TOP

2" 
(51 mm)

Min.

14" 
(355 mm)

Max.

32" 
(813 mm)

Max.

32" 
(813 mm)

Max.

32" 
(813 mm)

Max.

14" 
(355 mm)

Max.

(A)

COUNTER TOP

(G)

(F)

(D)

(E)

Tools Required:
Hammer drill; Phillips screwdriver with short head; 9/16" hex socket with appropriate
wrench (min. 6" extension); Utility knife; 1/2" carbide tip drill bit; 3/8" jobbers drill bit.

BAR TOP
PLYWOOD

(B)

20" 
(508 mm)

Max.

BAR TOP ILLUSTRATION 1

ILLUSTRATION 2

ILLUSTRATION 3

(C)

(A)

(C)

BAR TOP
PLYWOOD

BRACKETS

(B)

(A)

(D) 2 - Typical Flat Washers (3/8”)
(E) 2 - Step Bolts - (3/8" x 3")
(F) 2 - Typical Nuts for Step Bolts (3/8”)
(G) 1 - Gasket Mat



LLAME SIN COBRO DENTRO DE LOS EEUU Y CANADÁ  •  TODOS LOS PRODUCTOS ENVIADOS DESDE EL ALMACÉN MÁS CERCANO

crlaurence.com • Toll Free (800) 421-6144 • Fax (800) 262-3299

1º PASO: Mida la cima de la barra para calcular el número de soportes que se requiere.  La distancia máxima recomendada desde 
los extremos hacia el centro es 14 pulgadas (355 mm).  La distancia entre los soportes centrales no debería exceder de 32
pulgadas.  La distancia mínima desde el borde de la cima de la barra es 2 pulgadas (51 mm).  Véase el dibujo aquí abajo.

2º PASO: Monte los soportes en el mostrador con las escuadras encima. Véase el dibujo #3.

3º PASO: Marque cuidadosamente en el mostrador la ubicación de los soportes y los sitios 
de taladro para los pernos de abajo de los soportes.  Saque los soportes y taladre 
cuidadosamente dos hoyos con diámetro de media pulgada (12.7 mm) en 
el mostrador.

4º PASO: Ponga la placa para juntas en el mostrador para que los hoyos en la junta 
encajen bien con los hoyos recién taladrados en el  mostrador.  Ponga el soporte 
por encima de la junta para que concuerden sus hoyos (las escuadras del soporte 
deben estar verticales).  Inserte los pernos de abajo en los lugares que les 
corresponden.  Apriete las tuercas y los pernos con cautela para no dañar 
el mostrador.  Véase el dibujo #1.

5º PASO: Después de que todos los soportes estén correctamente instalados con pernos, 
ponga el triplay (madera terciada) en los soportes.  Marque la ubicación de los 
tornillos de apoyo y taladre los hoyos con diámetro 3/8 pulgada (9.5 mm) requeridos.  
Ponga el triplay en su lugar correcto y apriete los tornillos y las tuercas.  Asegure 
el triplay de una manera segura a las escuadras de los soportes.

6º PASO: Instale losa encima del triplay de acuerdo con las instrucciones del instalador.

C.R. LAURENCE CO., INC.
Instrucciones para la Instalación de Soportes de Acero CRL

Números de Catálogo SCS6V y SCS6A

1. Si la cima de la barra mide menos de 60 pulgadas (1524 mm) de largo se requiere un mínimo de dos soportes.  El ancho de la
cima de la barra no excederá de un máximo de 20 pulgadas (508 mm).  Si la cima de la barra es más larga de 60 pulgadas (1524
mm) se requiere un soporte por cada 32 pulgadas (813 mm).

Información Antes de Montar:

Información Para Instalar:

(A) 1 - Soporte
(B) Tornillos de Acero  

Inoxidable (5/16” x 3/4”)
(C) 4 – Tuercas Prolongadas (5/16”)

Contenido del Paquete: véase los dibujos

MOSTRADOR

2" 
(51 mm)

Min.

14" 
(355 mm)

Max.

32" 
(813 mm)

Max.

32" 
(813 mm)

Max.

32" 
(813 mm)

Max.

14" 
(355 mm)

Max.

(A)

MOSTRADOR

(G)

(F)

(D)

(E)

Herramientas Requeridas:
Taladro de martillo; destornillador Phillips con cabecera corta; casquillo adaptador 
hex (9/16 pulgada) con llave inglesa correspondiente (extensión mínima de 6 
pulgadas); cuchilla;  broca con cuchilla postiza de carburo (1/2 pulgada); 
broca de 3/8 pulgada     

CIMA DE LA
BARRA TRIPLAY

(B)

20" 
(508 mm)

Max.

CIMA DE LA BARRA DIBUJO 1

DIBUJO 2

DIBUJO 3

(C)

(A)

(C)

CIMA DE LA
BARRA TRIPLAY

ESCUADRAS

(B)

(A)

(D) 2 – Arandelas Planas (3/8”)
(E) 2 – Tornillos de Escalon de 3” (3/8” x 3”)
(F) 2 – Tuercas para Tornillos de Escalon (3/8”)
(G) 1 – Placa para Juntas



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


